EARAROBREBRT —5 XN—ZXBISH—F

201118148 (B) 15BHEE3H

WM C2— 1248 C2 HSZ35L (m | mewE - | v wo
[®E%] 1% :300,000H  2&:90,000H  33%&:48,000M ./ 43%&:24,000M” . 53&:18,000 3
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= Sy 3 | NIEHE 1:31.1 3-3-3-2 [37.7| - 2 457 | WNEX (1£8)
11111 | T ITA " 56.0 =) ) FITU>
RiFAIRXIv— BARYPILRT Y b #HBEIT7—L
— LCH : 42~ - B 5
)55 | BI5 by TEEE i 3 54_0§71 1.(321).5 4-4-2-1 | 38.2 1 21_735; ET (1£23)
RFVYYH /e B:5v7UvI0-R FREYS
< AR : -7-5- - FHEBHIE (L5
3 6| /N\aAxI 3 A0 1'(321)'9 N ’ (4_312) eSS i
RR—ANE B:PISAHAIYIR LLIEBHRES
- < i) : -6-4- - KEEEX (I£8)
JBY 3| FYaELTY w4 DD [ S A e YO e
R:ZROAVIUI—Y 8B:AVITI—FAT LA #HEI7—LA
— N s 3 | AlllEE 1:32.5 2-2-66 | 39.2| - 5 394 | LUERE (E&)
5/8/ 9| ¥=71v7 54.0 @1/ Oy |EEE
R:iTJUA=Y B UIvYRRL Ea= T
N e s 5 | RIS 1:32.8 1-1-1-3 | 39.7| - 7 | 434 |LLE# (£
6177 | V=X ¥ D ¥53.0 a1/ (e) |EE—E
R:TSvI94 KR B:hOvEFa—b /=Y Tr—I
3o R s 3 | mEEY 1:32.8 8-8-8-7 |38.8| - 6 507 | MBE (£E)
70N 4 | PV —R 54.0 @E) (o) | LKL
REVFOVY 8 h—VIS5RI— AM—LTF—LI—RU—Y 3V
~, Y 3| dHKEA 1:33.3 5-5-7-8 | 39.6| — 9 38 | PIES (£8)
8 2 Zo>3d-)b 56.0 2172 (-10) | BHER
Rib—trya—sv B:SRVRR— BEERIS
< =~ 4 | BRBEA 1:33.8 9-9-9-9 |39.1| - § | 442 |HHHEBAE (f£E)
9lglg|PrIAo5mY A4S T G0y | @ I N
Rir—r>75v3 B:VILIXHEY KE B=E
@ 11— —‘@BIEfI
10—7+— 7,9,1,5,2,3,6,4,8
20—7F— 7,9,1,5,2,3,6,4,8
BEIESSES 7,5,1,3,6,9,2,4,8
40—F— 5,1,7,3,6,9,4,2,8
0 ILRE
BB 1 310 JA R 1-5 1309 & 1-5 280M 3EE 1-5-6 240
B B 1 100H 1-6 1904 5B E 1-5 2504 3EE 1-5-6 1,560/
5 1004 5-6 140MH o= 1-5 6204
6 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




